
 
 

Pěšec – řešení 19. dílu 
 

 
1. Okaam – Amatér 1927 – 1.Je5! Sd1 2.Sb5+ c6 3.dc Db6 4.cb+ 

Db5 5. baD+ černý vzdal 
 
2. Koch – Kuppe 1932 – 1. Dc6+ ( 1.Da8? cb+ 2.Ke2 Da6+ ) 

černý vzdal pro 1…Sd7 2.Da8+ Dd8 3.Dd8+ Kd8 4.fg+ 
 

3. Zuckerman – Levi 1974 – 1…Db1+ 2.Ke2 a3 3.h6 a2 4.h7 a1D 
5.h8D Dd1+ 6.Ke3 Da1x 

 
4. Bronštejn - Gufeld 1981 – 1.f7+ Kf7 2.Jf6x 
 
5. Conner - Balcerovič 1962 – 1.h6 černý vzdal 

 
6. Jung - Rogman 1937 – 1.Dh6 Dc5+ 2.Vd4! a bílý zvítězil 

 
7. Blau – Kanko 1966 – 1.g5 de 2.gf!! ef3 3.Jd5 Sf6 4.Jc7 Vb8 

5.Sa7 a bílý vyhrál 
 

8. Adorjan – Ostojíč 1970 – 1.Sh6! Sb4 2.Sg7+ Kg7 3.h6+ Kh6 
g7 Vg8 5.Vg2 černý vzdal 

 
9. Bronštejn – Geller 1961 – 1.Dg6! fg 2.Vg7+ a 3.Jg6x 
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